[image: image1.jpg]aat





CBT Practice test model answers

Business Tax (BTX)

Practice assessment 2 FA 2011

Section 1
Task 1.1
[image: image2.png]Drag the correct box next to each of the expenses below to show if they are revenue or capital based.

Revenue
|Legal fees in connection with the renewal of a shortlease

Capital
|Cost of buying the Managing Director's car

Revenue
[Repairs to roof

Drag tems: Revenue Capital





Task 1.2
[image: image3.png]Complete the computation. Do not use commas, brackets or minus signs when entering figures.

Disallowed items added back

[Pepreciation

[General estimated doubtiul detis 70)
[Danation o a national chary 7000]
[Rccountancy ees for an unsuccessiul tax appeal 2700
[Enteriaining customers 2080
frotal adged back

[Capital allowances

|Adiusted traging loss 90610





Task 1.3

[image: image4.png]Complete the following sentences using the drop down options.

The proft assessable n ifor 201011 1s: £ -

‘The profit assessable on Harry for 2010/111s: £

I

The profit assessable on Russell for 2010/111s: £

II

The profit assessable on Russell for 2011/12is: £

The profit assessable on Russell for 201213 1s: £ [2,460

Russell's overlap profits are: £

<




Task 1.4

[image: image5.png]‘Show if the following statements are true or false by ticking the correct box for each.

A company must set a trading loss against trading income of the current year before being carried back
to a previous year.

Tue  False

A company can set a capital loss against trading profis in the current year.

A sole rader may carry back a frading loss to the previous year even though they may have other income.
inthe curent year.

Atrading loss can be offset against capital gains before rading profis in the current year.





Task 1.5
[image: image6.png]Calculate the division of profit. You must enter zeroes where appropriate to gain full marks.

|Division of profts 80000 | 70000 | 50000

[Total 94000 | 88000 | 58000





Task 1.6

[image: image7.png]‘The following has been extracted from the accounts of Box Ltd for the 18 month period ended 30 September 2011

State whether these items are time apportioned or allocated to the period in which they occur.

[Tading profis 120000
|Capital gain in March 2011 10000
[Purchase of new plantin August 2011 15,000
[Rental income 12,00
[Donation to hariy in November 2011 1,000





Task 1.7

	
	
	General Pool
	Marcus’ Car (PU)
	Special pool
	Allowances 

	Brought forward
	
	97,400
	 9,100
	
	

	Disposals
	
	10,100
	7,700
	
	

	
	
	87,300
	
	
	

	Balancing allowance
	
	
	1,400
	
	980

	
	
	
	
	
	

	Car – 100%
	
	
	
	
	16,400

	Special rate car
	
	
	
	27,930
	

	Private usage car
	
	
	21,020
	
	

	AIA:
	
	
	
	
	

	Acquisitions
	117,000
	
	
	
	

	AIA
	100,000
	17,000
	
	
	100,000

	
	
	104,.300
	
	
	

	WDA – 20%
	
	20,860
	
	
	20,860

	WDA – 20%
	
	
	4,204
	
	2,943

	WDA – 10%
	
	
	
	2,793
	2,793

	Balances to carry forward
	
	83,440
	16,816
	25,137
	

	Total allowances
	
	
	
	
	143,976


Section 2
Task 2.1
[image: image8.png]‘Show whether the following are true or false.

Only privately owned cars are exempt ffom capital gains tax.

Tue

Awasting chattel with a usefullfe of 30 years is exempt from
capital gains tax.

False





Task 2.2
[image: image9.png]Show whether the following are true o false in relation to capital gains tax.

Enhancement costs are not allowable deductions from the proceeds.

Tue False

Auctioneers commission paid on selling an assetis deducted ffom the proceeds.

Commission paid on the purchase of an assetis deducted from the cost.

‘The chattel exemption uses the formula: Net proceeds —£6,000 x 513

‘The indexation allowance s only allowed for companies.





Task 2.3

	
	Number of shares
	
	Cost

£

	October 2011
	
	
	

	Proceeds 2,000 x £33
	
	
	66,000

	Cost 2,000 x £29
	
	
	58,000

	Gain
	
	
	8,000

	
	
	
	

	Pool:
	
	
	

	July 2000
	4,000
	
	80,000

	Rights issue
	400
	
	4,800

	
	4,400
	
	84,800

	Disposal
	1,000
	
	19,273

	
	3,200
	
	65,527

	
	
	
	

	Proceeds 1,000 x £33
	
	
	33,000

	Cost
	
	
	19,273

	Gain
	
	
	13,727


Task 2.4
[image: image10.png]The table below shows the capital gains and losses for 2011/12 and 2010/11 for two taxpayers.
Using this information, compute how much annual exemption is used in 2011/12 for each taxpayer, and
the amount, if any, of capital losses to carry forward to 2012/13.

— Lossesin  LoSsesbrought Annualexemption  Losses to

forward from usedin carry
EEney 20112 201011 201112 forward

£ £

[Barry 18,000 4,900) 3,900) 10600 1400

IHarry 12,600 3,900) 2,080) 8700 2080





Task 2.5
[image: image11.png]‘A company bought a building for £280,000 in 2007. In 2011, this building was sold for £430,000.
Another building was bought atthe same time as the disposal

Link each cost of the new building below to the appropriate amount of rollover relief by clicking
on the left hand box and then on the right hand box. You can remove a line by clicking on it.

Cost Amount of rollover relief

£20,000
£400,000 £40,000
£80,000

£300,000
£100,000
£600,000 £120,000
£160,000





Task 2.6
[image: image12.png]Anna and Mel share profits equally after Anna's salary of £15,000. For the year ended 5 April 2012 the profits
before salaries were £95,000.

Compute the National Insurance Contributions payable by Anna.

The total Class 2 NIC payable is: £ [130

The total Class 4 NIC payable at9% is: £ [3172.50

The total Class 4 NIC payable at 2% is: £ [250.50

Total NIC payable is: £ [3553





Task 2.7

[image: image13.png]Joe sold his business in January 2012 for £5,000,000.

(a) Complete the following sentences.

Joewillpa capial gains toxat e of

Joe also has a balancing charge for income tax for the year ended 5 April 2012 which is payable on

Miuki had a liabiity to income tax for the year ended 5 April 2011 of £12,000.

(b) Complete the following sentence by entering the correct dates.

31001113

Miukd will need to make payments on accountfor 2011/12on | 31 1 01 112 [ana |31 /07 1 12





Task 2.8
[image: image14.png]Blueboor Ltd has the following information for the year ended 31 December 2011:

i) Taxable profis are £680,000
Dividends received in August 2011 (net) are £13,500

The computation for corporation tax payable is:

170000] @ 28% 47600
lMarginal reliet
170000
71400 x 375000 |- [173780 | —= 3448
173750
510000] @ 26%| 132600
lMarginal reliet
510000
31200 x 1125000 |- [521250 | ——= 8861
521250
ICorporation tax payable 167893]






Task 2.9
[image: image15.png]Phil had a tax liability of £25,000 for 2010/11 and £33,000 for 2011/12.
He paid the liabilit for 2011112 as shown below.

For each payment made, drag the correct box to show:
- whether or not a surcharge is chargeable, and
- whether or not interest s chargeable.

Not chargeable

Not chargeable

31 January 2012 12500
10 September 2012 12500 | Notehargeatie | ||~ Gnargeable
1 spri 2073 00| Chargeatle Chargeatle
Drag tems: Chargeadle | [ Notchargeable






Task 2.10
Box 11 = 86,500

Box 22 = 350

Box 24 = 1260

Box 25 = 70

Box 29 = 2000

